Name _____________


NAME: ________________________________     
Biology Review Packet for EOC
1. Organelles (2.02)

All cells have organelles that perform specific jobs in the cell:  

1. The plasma membrane (AKA cell membrane) is the boundary between the inside and outside of the cell.  It keeps the good stuff in and the bad stuff out.  
2. The cell wall provides structure and protection for the cell.  It is found only in plants.    

3. The cytoplasm is the jellylike material that makes up the background of the cell (between the nucleus and plasma membrane).  
4. Mitochondria are the powerhouse of the cell.  They are where cellular respiration takes place.
5. Chloroplasts capture energy from the sun through photosynthesis.  

6. The nucleus is the control center of the cell.  It contains DNA.
7. Ribosomes make (synthesize) proteins.  

8. Vacuoles store materials, such as water, food and waste.  
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1. Label organelles 1, 2, 3 and 4 on the cell to the right 

1:

2:

3:

4:


2.  Write the functions of the following organelles:



vacuoles:



mitochondria:



chloroplasts:



nucleus:



ribosome:



plasma membrane:



cell wall:
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3. A scientist treats a cell with a chemical that destroys the ribosomes. As a result, which cell process will be stopped?

a. osmosis 


c. photosynthesis 



b.  protein synthesis  

d. respiration
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4. Which is the most likely function of a group of cells that contains a high number of mitochondria?

a. respiration 


c.  fermentation


b. transpiration 

c. photosynthesis
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5. Which is the most likely function of a group of cells that contains a high number of chloroplasts?

a. respiration 


c.  fermentation


b. transpiration 

c. photosynthesis

2. Diffusion, Osmosis & Active Transport (2.03)
· Diffusion is the movement of molecules to the side of a membrane that is less crowded (has a lower concentration).  Diffusion happens without energy.  

· Osmosis is the movement of water to the side of a membrane that has more molecules (has a higher concentration of molecules).  Because the water adds more space, it makes the molecules less crowded.  Osmosis happens without energy.

· Active transport is when molecules move to the side of the membrane that is more crowded (has a higher concentration of molecules).  Active transport requires energy.
	
	Osmosis
	Diffusion
	Active Transport

	What moves
	
	
	

	Energy?
	
	
	

	Toward which side?
	
	
	


1. Which type of transport requires energy?

2. In which type of transport does water move?

3.  In which type of transport do molecules move to the less concentrated side?

4.  In which type of transport do molecules move to the more concentrated side?

5.  In which direction does water move in osmosis?

If an animal cell is placed in distilled water, water will move into the cell, causing the cell to swell and burst. The bursting of the cell is a result of which biological process?
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A.
active transport

B.
enzyme activity

C.
osmosis

D.
diffusion
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A cell is observed to have no sugar inside when it is placed into a concentrated sugar solution.  After 10 minutes, there is sugar inside the cell.  How did the sugar get into the cell?

A.
active transport
B.
enzyme activity

C.
osmosis

D.
diffusion
3. Organic molecules (2.01)
	Biomolecule
	Carbohydrate
	Protein
	Nucleic Acid
	Lipid

	Monomer
	Monosaccharide
	Amino acid
	Nucleotide
	Fatty acid

	Purpose
	energy
	Work of the cell
	Genetic information 
	Makes the plasma membrane

	Examples
	Sugar, starch, cellulose, glucose
	Enzyme, insulin
	DNA, RNA
	Fat, oil, wax

	Test indicator
	1.Iodine - starch

2.Benedicts - sugar
	Biruets
	None
	Brown paper bag


Part 1:  Write the organic molecule that is related to each of the following word:


fatty acid - 


energy - 



starch - 


nucleotide – 


plasma membrane - 


monosaccharide - 


DNA – 


amino acid - 



fat - 


Enzyme - 


glucose - 



nucleus – 


Nucleic acid - 


brown paper bag - 


iodine – 
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1. Which is the primary function of carbohydrates?

a. Storage of energy

b. Transmission of genetic material

c. Acceleration of chemical reactions

d. Transport of molecules across membranes
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2. Which biomolecule  makes up the plasma membrane?


A. Carbohydrates


C. Amino acids


B. Lipids



D. Proteins

3. What is the main function of lipids?
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a.  to make the boundaries of the cell

b.  to provide an immediate source of energy

c.  to do the work of the cell

d.  to carry genetic information

4.  Which organic compound is produced when three fatty acid molecules bond to one glycerol molecule? 

a.  glycogen 
b.  PGAL  

c.  ATP 
d. a lipid
4. Photosynthesis and Cellular Respiration (2.05)


Photosynthesis:  Plants (producers) can produce sugar (also called glucose) from sunlight through a process called photosynthesis.  In photosynthesis, water (H2O) and carbon dioxide (CO2) are reactants (they go in), and sugar (C6H12O6) and oxygen (O2) are products (they come out). 
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sunlight +  H2O + CO2                                sugar + O2

Photosynthesis is done in the chloroplast (an organelle found only in plants) .
Cellular respiration: The sugar produced by photosynthesis provides energy, but our cells cannot use the energy in sugar.  It must be made into ATP (the molecule that is ALL USABLE ENERGY).  Plants and animals change sugar into ATP through a process called cellular respiration.  The equation for respiration is the OPPOSITE of the equation for photosynthesis:
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sugar + O2 

H2O + CO2 + ATP


Cellular respiration is done in the mitochondria (called the powerhouse of the cell because it makes ATP, usable energy).  

Classify the following as describing photosynthesis or cellular respiration:


1.   makes sugar from sunlight     __________________________________________

2. converts sugar to ATP ________________________________________________

3. produces sugar and oxygen ______________________________________________

4. produces carbon dioxide and water _____________________________________

5. performed in the mitochondria _________________________________________

6. performed in the chloroplast ____________________________________________

1.  Without looking at the top, write the FULL EQUATION for photosynthesis:

2. Without looking at the top, write the FULL EQUATION for respiration:
What is the relationship between the equations for photosynthesis and respiration?

a.  They are the same.

b.  The products of Respiration are the same as the products of photosynthesis.

c.  The reactants of respiration are the same as the reactants of photosynthesis.

d.  They are the reverse of each other.

The organelle that converts glucose to ATP is the:

           a. Mitochondria
   b.   Chloroplast

c.  centriole 

d.  nucleus
Which biological process can remove CO2 from the atmosphere and make sugars?

a.  cellular respiration



c.  photosynthesis

b.  metabolism




d.  digestion

sugar  + O2 ( CO2 + H2O + ATP represents the process of:

a. Photosynthesis


c.   Fermentation

b. Cellular respiration


d.   Glycolysis

5. Aerobic vs. Anaerobic Respiration (2.05)

[image: image13.png]



Cellular respiration is how plants and animals convert sugar to ATP (usable energy).  It requires oxygen (remember that respiration is:  sugar + O2 


H2O + CO2 + ATP), but when there is no oxygen, organisms can use anaerobic respiration.   
There are 2 kinds of cellular respiration:  aerobic (with oxygen) and anaerobic (without oxygen).  Aerobic respiration makes 36 ATP, while anaerobic only makes 2 ATP, so aerobic respiration makes more ATP (is more efficient).  Aerobic respiration is performed in the mitochondria, and anaerobic respiration is performed in the cytoplasm (background of the cell).  Most plants and animals do aerobic respiration, and yeast and bacteria do anaerobic respiration.
There are 2 types of anaerobic respiration.  In lactic acid fermentation, lactic acid is produced.  In alcoholic fermentation, alcohol is produced.  
Complete the following chart:

	
	Aerobic respiration
	Anaerobic respiration

	With oxygen?
	yes
	

	ATP produced
	
	2

	Example organisms
	Plants and animals
	

	location
	
	cytoplasm


When ATP is produced without oxygen, _________ respiration is taking place.

a. Aerobic



c.   Cyclic

b. Anaerobic



d.   Pyruvic

Which organism is most likely to use anaerobic respiration?

a.  flower

b. tree

c.  yeast

d.  bird

A species of bacteria produces lactic acid and 2 ATP.  What process was the bacteria performing?


a.  photosynthesis


c.  transpiration

b.  aerobic respiration


d.  anaerobic respiration

Which statement best distinguishes aerobic from anaerobic respiration?

a. only aerobic respiration involves fermentation

b. only anaerobic respiration occurs in the mitochondria

c. only aerobic respiration requires oxygen

d. only anaerobic respiration produces carbon dioxide

In terms of ATP production, which process results in the most total energy?

a.  aerobic respiration


c.  fermentation

b.  anaerobic respiration

d.  all processes result in the same amount of energy

6. Enzymes (2.04)


Enzymes are proteins that speed up chemical reactions in organisms.  In other words, enzymes are biological catalysts.  Without enzymes to catalyze them, most reactions in the body would happen at a very slow rate, so enzymes are necessary for reactions to happen as they do.
Enzymes usually end in –ase.  Some example of enzymes are lactase, catalase, and lipase.  


Enzymes are re-usable.  That means that they are not used up or changed in their reaction, so they can be reused over and over again.  


Enzymes are also specific.  That means that they only act on one substrate (the term for the molecule that an enzyme acts on).  The enzyme and the substrate fit together like a lock and a key.
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Enzymes can be destroyed (called denatured) by 2 factors:  low pH (acid) and high temperature.  When an enzyme is denatured, it no longer works to speed up a reaction.  

1. What organic molecule are enzymes?

a.  lipids

b.  proteins

c.  nucleic acids

d.  carbohydrates

2. What is the term for the substance an enzyme acts on?

a.  complex 
b.  substrate

c.  enzyme


d.  lipid

3. Explain what it means to say that enzymes are specific:

4. Explain what it means to say that enzymes are reusable:


5. What happens if an enzyme is put in low pH?


a.  it works faster

b.  it is denatured
c.  it grows bigger
d.  it grows smaller

6. Lactase speeds up the break-down of lactose.  Which term best describes lactase?

a.  substrate
b.  complex

c.  enzyme

d.  lipid

7. Population (5.01)
 Populations growth is influenced by 2 factors: birth rate and death rate.  Populations increase when the birth rate is greater than the death rate.  Populations decrease when death rate is greater than birth rate.  Populations remain the same when birth rate is the same as death rate.  


Population growth can happen in 2 different rates.  

· Exponential growth continually increases. 


· Logistic growth increases, then flattens out when it reaches its carrying capacity (the largest population the environment can support for a long period of time).  
· Limiting factors are factors that limit how large the population can grow (they determine the carrying capacity).  For example, predators are a limiting factor when they keep a population from growing larger.     
Write the letter of the graph to the right for the following descriptions:

1.  Exponential growth: 

2.  Logistic growth:

3.  Reaches a carrying capacity:

4.  Increases, and then predators are introduced:

5.  No limiting factors

6.  With limiting factors

7.  Free of limiting factors:

A population levels out at a carrying capacity.  What kind of growth was shown?

a.  exponential



c.  continuous

b.  negative



d.  logistic

A population of deer is initially low, then grows steadily before coming to a relatively constant population.  What kind of growth is this population exhibiting?

a. linear growth


c. Logistic growth

b. exponential growth


d. negative growth

A pond is supporting a large fish community. The addition of any more fish will cause a food shortage that will be detrimental to the fish population. What has the pond reached?

a. biotic potential


c. carrying capacity

b. density-dependent population
d. logistic growth

8. Animal Behaviors (4.05)

An innate behavior is a behavior that is performed correctly the first time an animal does it.  It does not have to be taught.  5 examples of innate behaviors are suckling, hibernation, estivation, phototaxis and migration. 
· Suckling = babies getting milk from their mother  

· Hibernation = sleeping during the winter
· Estivation = sleeping during the summer

· Phototaxis = moving to and from light  

· Migration = moving to a better climate, feeding area

A learned behavior has to be taught.  4 examples of innate behaviors are imprinting, classical conditioning, trial and error, habituation. 
· Imprinting = baby follows the first thing it sees (duck follows its mother)

· Classical conditioning = learns to associate 2 things together (like Pavlov’s dogs associate a bell and food)
· Trial and error = learn by remembering (mouse remembers a maze)

· Habituation = gets used to something so stop responding

A social behavior is in groups.. 
· Pheremones = communicating with scents

· Courtship = attract a mate
· Territorial defense = fight for your area

Classify the behaviors as innate, learned, or social:

1.  A spider spins a web without being taught:  

2.  A duck follows its mother:

3.  A monkey remembers learning how to open a door:

4.  A group of ants communicate with pheremones:

5.  A father teachers his daughter to throw a ball:

Identify the type of innate behavior that is described (suckling, phototaxis, migration, estivation, hibernation)

1.  A bear sleeps during the winter:

2.  A crab sleeps during the summer:

3.  Birds fly south for the winter:

4.  A baby dog gets milk from its mother:

5.  A moth automatically moves toward light:

Identify the type of LEARNED behavior that is described (habituation, imprinting, classical conditioning or trial and error):

1.  A baby duck follows its mother:

2.  Ms. Mercado’s biology class hears students yelling in the hall every day, so they are used to the noise and ignore it:

3.  Pavlov’s dogs associate hearing bells with getting food:

4.  Mice learn to run in a maze because they remember it:

Identify the type of SOCIAL behavior that is described (communication, courtship, territorial defense):

1.  Birds dance to attract mates:

2.  Fish fight over their space:

3.  Ants send messages with pheremones:
9. Symbiosis (5.01)

There are 3 types of symbiosis: mutualism, commensalism & parasitism:


Mutualism – both organisms benefit


Commensalism– one benefits, one is not affected


Parasitism – one benefits, one is harmed

Identify the type of symbiosis:

1. A pilot fish eats scraps of food left behind from a shark.  The shark is not affected.
Step 1: Figure out what 2 organisms are interacting



Organism 1: 


Organism 2: 






Step 2: Figure out how the organisms are being affected:

Step 3: Figure out what type of symbiosis this is:

2. Ticks live on dogs and suck their blood to get nutrition. The dogs often get sick because of the ticks.

Step 1: Figure out what 2 organisms are interacting



Organism 1: 


Organism 2: 






Step 2: Figure out how the organisms are being affected:

Step 3: Figure out what type of symbiosis this is:

3. Humans benefit from bacteria that live in our intestines because they help us break down food.  Bacteria benefit because they get to eat some of the food.


4. The crab Lybia tessellata carries a pair of sea anemones on its claws.  The crab uses the sea anemone’s stinging tentacles as protection and the sea anemone obtains small food particles released by the crab as it feeds
5.  Tapeworms live in the bodies of other organisms.  They use the host for food and cause disease.

6.  The Thick Knee is a type of bird that will eat parasites on the skins and teeth of the crocodile. As a result of this relationship the Thick Knee gets food. The crocodile benefits by having these parasites removed.

10. Transcription & Translation (3.01)

	DNA
	mRNA

	C
	G

	G
	C

	T
	A

	A
	U



Our DNA determines who we are because it codes for proteins (which determine our traits).  But DNA is stored in the nucleus, and proteins are made in the ribosomes (which are found in the cytoplasm, the filing of the cell outside the nucleus).  DNA needs a way to get out of the nucleus!


First, DNA is copied to mRNA (messenger RNA).  This process is called transcription.  mRNA is made with complimentary base pairs:



The mRNA leaves the nucleus and goes to the ribosome.  There, it is used to make proteins.  This process is called translation.  A set of 3 base pairs (a codon) in the mRNA codes for an amino acid (the monomer, or building block, of proteins).  In translation, tRNA brings the appropriate amino acid to the ribosome.  rRNA makes up the ribosome.  

What is the function of tRNA?

A. carry amino acids to the ribosome

C. bring a message to the ribosome

B. transcribe DNA




D. carry ribosomes to the nucleus
The process by which mRNA is used to make proteins is called what?

A. replication





C. transcription
B. translation





D. codon

The process by which DNA is copied into mRNA is called?
A. replication

B. transcription
C. translation


D. codon

Where does replication happen?  

A. cytoplasm

B. nucleus

C. Cell membrane 


D. proteins
COMPLETE the following diagram
DNA:    GCCTATAAGCTG


mRNA:   __________________________


amino acids: ____________________________________

11. DNA & RNA structure (3.01)

All of our genes are in a molecule called DNA:  deoxyribonucleic acid.  DNA is made of the monomer nucleic acid.  It has a backbone made of phosphate groups and deoxyribose sugar.  Between the backbones are nitrogenous bases (adenine, guanine, thymine and cytosine) that are joined together by weak bonds.  DNA looks like a twisted ladder.  Its shape is called a double helix.  


RNA (ribonucleic acid) is also made of nucleic acids.  There are 3 main differences between DNA and RNA:

1. RNA has uracil (U) instead of thymine (T)

2. RNA is single stranded instead of double-stranded

3. RNA has ribose sugar, instead of deoxyribose sugar

1. What is the shape of DNA called?

2. What is the backbone of DNA made of?

3. What are the 4 nitrogen bases in DNA?

4. What are the 3 parts of a nucleotide?

1.

2.

3.

Which of the following is a part of a nucleotide?

A. double helix




C. nucleic acid
B. backbone





D. deoxyribose sugar

Which statement best describes the structure of DNA?  

A. Double strand of nucleotides, deoxyribose 
B. Double strand of nucleotides, ribose

C. Single strand of nucleotides, deoxyribose 

D. Single strand of nucleotides, ribose

Which statement best describes the structure of RNA?  

A. Double strand of nucleotides, deoxyribose 
B. Double strand of nucleotides, ribose

C. Single strand of nucleotides, deoxyribose 

D. Single strand of nucleotides, ribose
What organelle would nucleic acids be found?
A. Cell Membrane 
B. Mitochondria
C. Nucleus 
D. Chloroplast

Which part of the nucleotide contains the “genetic code” for protein?

A. deoxyribose sugar 

B. ribose sugar 
C. nitrogenous base
D.  phosphate group
Which of the following about DNA and RNA are false?
A. DNA contains a deoxyribose sugar while RNA contains a ribose sugar

B. RNA can leave the nucleus while DNA cannot

C. RNA is a double helix while DNA is not

D. DNA contains a thymine while RNA contains a uracil

12. Mitosis & Meiosis (3.02)


There are 2 ways to reproduce: asexual reproduction and sexual reproduction.  In asexual reproduction (reproduction with 1 parent), a unicellular (1-celled) organism divides in half to make 2 identical copies of itself.  This process is called mitosis.   Mitosis does not lead to any variation, because the cells it produces (called “daughter cells”) are the same as the parent cell.  In mitosis, the parent cells and the daughter cells are both diploid (meaning there are 2 copies of each chromosome).  Mitosis is also done by our body cells to allow us to grow or repair injuries.  There are 5 steps to mitosis:









In sexual reproduction (reproduction with 2 parents), egg and sperm (called gametes) from 2 parents join to form a new organism. Sexual reproduction does lead to variation.  The egg and sperm are created by a process called meiosis. In meiosis, the parent cell divides 2 times to create 4 haploid (1 copy of each chromosome) daughter cells.  

Complete the following chart:

	
	Mitosis
	Meiosis

	Sexual or Asexual?
	
	

	Diploid or haploid cells formed?
	
	

	Number of divisions
	
	

	Number of cells produced
	
	

	Variation or stability?
	
	


13. Inheritance vocabulary 3.03

Genetics is the study of how genes are passed from parent to child. In genetics, there are several important vocabulary words that you must understand:


allele:  version of a gene (for example:  H)


genotype:  your genes for a trait (example: Hh, bb, LL)


phenotype:  your trait (example:  brown eyes, red flower)


dominant:  allele that is ALWAYS shown (written as a big letter.  Example:  B)


recessive:  allele that is ONLY shown with another recessive (small letter; b)


heterozygous:  2 DIFFERENT alleles (Bb, Hh, Tt)


homozygous:  2 SAME alleles (BB, bb, HH, hh, TT, tt)

For each trait (physical characteristic, like eye color), everybody has 2 alleles (version of that gene).  For example, if B is brown eyes and b is blue eyes, a person could have the genotype BB, Bb, or bb.  If a person has 1 dominant and 1 recessive allele, they have the dominant trait.  

If brown eyes (B) are dominant to blue eyes (b), here is the genotype/phenotype table:

	genotype
	phenotype
	term

	BB
	brown
	Homozygous dominant

	Bb
	brown
	heterozygous

	bb
	blue
	Homozygous recessive


Green pea pods (G) are dominant to yellow pea pods (g).  Complete the table.
	genotype
	phenotype
	term

	GG
	
	

	
	
	

	
	
	


Which of the following describes a phenotype?

a. Gg

c.  having freckles
  c.  homozygous

d.  heterozygous

Which of the following is a heterozygous genotype?


a.  tt


b.  Tt  


c.  tall


d.  TT
A woman is homozygous for a dominant trait.  Which of the following could be her genotype?


a.  HH


b.  Hh


c.  hH


d.  hh
A genotype may also be called:
 
a. a phenotype

b. two alleles

c. an allele 

d. a trait 

For each of the following, write the genotype and phenotype.
a. A woman has a rare genetic disease called Tay-Sachs disease.  The doctor tells her that she has one chromosome with the dominant allele for the disease.

b.A man has curly hair which he inherited because he received one dominant allele (C) from her father and one dominant allele (c) from her mother.

c.(THINK!) Osteoporosis is a recessive disease.  A woman has the disease.

14. Solving Punnett squares (3.03)

An example problem is shown here: 

In flowers, white flowers (W) are dominant to red flowers (w).  A homozygous dominant flower is crossed with a heterozygous flower.  What percent of the offspring will be white?

Step 1:  write alleles

W= white flower 
w= red

Step 2:  set up a genotype/phenotype table
	genotype
	phenotype
	term

	WW
	white
	Homozygous dominant

	Ww
	white
	heterozygous

	ww
	red
	Homozygous recessive


Step 3:  Parents:  WW x Ww

Step 4:  set up and solve the Punnett square:  (the parents genotypes go on the top and side)

     

	
	

	
	


Step 5:  find what the question is asking:
What percent of the offspring will be white? 
ANSWER: 100% will be white
Solve the following problems. SHOW WORK!!!
1. One of the parents of a child has phenylketonuria (PKU), which is caused by recessive alleles.  The other parent does not have the PKU alleles.  What is the chance that the couple will have a child with phenylketonuria?
2. In humans, hitchhiker’s thumb (H) is dominant to no hitchhiker’s thumb (h).  A heterozygous man is crossed with a woman without hitchhiker’s thumb.  What percent of their children will have hitchhiker’s thumb?
3. A man wants to investigate the wing shape of fruitflies.  Short wings are recessive to long wings.  If two heterozygous long-winged flies are crossed, what is the probability of them having short winged offspring?

15. Pedigrees (3.03)

A pedigree is like a family tree.  It shows how family members are related and the characteristics of diseases that they have.  In a pedigree, each level is a generation and can be labeled with roman numerals (I, II, III).  The lines show the children people have.  For example, in the pedigree above, person 6 and person 7 have one child (person 10).  Circles show women and squares show men.  

When a circle or square is filled in, it shows that the person has the disease or trait.  

When it is half filled in, it means that the person has 1 allele for a recessive disease or trait (that person is called a carrier:  they do not have the disease, but their children are more likely to have it).  

When it is not filled in, it means that the person does not have the disease or trait.

 




          The pedigree follows an X-linked, recessive disease. 
1. In the pedigree to the right, how many women are there?



2. Remember that the sex chromosomes of women are XX and men are XY.  So what are the sex chromosomes of person 6?

3. Note that the pedigree to the right is for a recessive disease.  So if a female has the disease, which would be their genotype? (using the letter “h”)

4. What is the genotype of #2?

5. If person #6 & #7 had another female child, what are the chances she will have the disease?

6. If person #8 married a woman who had the disease, what are the chances they will have a child with the disease? 
16.  Gen Tech and Evolution
1. The diagram below represents DNA fingerprints which are the result of gel electrophoresis done on several DNA samples found at a crime scene. Which suspect is linked to the crime scene by this DNA analysis?
A  Suspect A 

B  Suspect B

C  Suspect C 

D  Suspect D

2. . A plant nursery only grew one type of tomato plant.  All of their tomato plants died from the same disease. What was most likely true of the tomato plant population?

 
A  They had a lot of resistance to disease.

 
B  They had a few plants that were resistant to the disease. 

 
C  They had too much variation in their genes.

 
D  They had little variation in their genes. 

3. Most individuals of a certain species of bird have medium-length tails, but tail length ranges within the species from very short to very long. 

If a new predator arrived that preferred  birds with medium-length tails, which graph describes the most likely results?
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4. A paleontologist is comparing the fossilized remains of two primates.  Both animals had a prehensile tail.  What can be concluded from this evidence?

A  They were not related.  
 


B  They lived on the ground.  

C  They evolved from a common ancestor. 
 
D  They had bipedal locomotion. 

5. Variation within species was important to the development of Darwin’s theory of evolution.  Which statement does individual variation help explain?
  
A  Resources become limited over long periods of time. 

 
B  Populations often increase rapidly and without warning. 

 
C  Competition is fierce among members of different species. 

 
D  Some organisms survive and reproduce better than others.

6. Variety within a species is most likely to result from which situation?

 
A.  severe weather conditions that might occur, such as hurricanes or blizzards 

 B.  adaptation to local environmental characteristics by isolated populations of the species 

 
C.  the extinction of competing species over a broad range of habitats

 
D.  sex-specific coloring differences

7. Which could be considered biochemical evidence of an evolutionary relationship?
A  absence of vestigial structures  

B  presence of embryonic gill slits 

C  similar anatomical structures

D  presence of identical proteins

8. Which is the best evidence of an evolutionary relationship between two organisms?

A  similarity in behavior 
    B  similarity in DNA  
C  similarity in habitat 
D  similarity in niche 

9. Who observed variations in the characteristics of animals and plants on the different islands of the Galapagos?

a. James Hutton

b. Charles Lyell

c. Charles Darwin

d. Thomas Malthus

10.  In addition to observing living organisms Darwin studied the preserved remains of ancient organisms, called __________.

a. fossils

b. adaptations

c. homologous structures

d. vestigial structures

11.  Differences among individuals of a species are referred to as __________.

a. variation

b. fitness

c. natural selection

d. adaptation

12.  An inherited characteristic that increases an organism’s ability to survive and reproduce in its specific environment is called a(n) __________.

a. vestigial structure

b. adaptation

c. speciation

d. radiation

13.  When two organisms change in response to one another the following has occurred.

a. geographic isolation

b. coevolution

c. divergent evolution

d. convergent evolution

14.  When a species becomes two separate species because of separation due to a barrier the following has occurred.

a. geographic isolation

b. coevolution

c. divergent evolution

d. convergent evolution

15.   The most common examples of coevolution are __________.

a. parents and offspring

b. symbiotic relationships

c. pollinators and angiosperms

d. competition due to overproduction
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Going from mRNA to amino acids is the process of ______________.  The string of amino acids builds a _____________.  This process takes place in the: ___________.  








Going from DNA to mRNA is the process of ______________.  This process takes place in the: ___________.
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